ﬂ \/ 21.1If an air parcel has a temperature of 270 K and a relative humidity of 70%, what is the
. P ) water vapor partial pressure over liquid water? What is the water vapor pressure over ice?
Which is greater?
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nden | 22 1f an air parcel has a temperature of 290 K and a relative humidity of 70%, what is the
mass of water vapor in 1 m )
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@ \/23 Assume that a cloud has a liquid water content (LWC) of 1 g m>. How much solar
energy is required to convert all the liquid water to water vapor at a constant temperature
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e \/ 24. An ice cube (10 cm®) at 0°C, when completely melted, will lower the temperature of how
‘ \AWD ) much water from 90° C to 10°C?  LyM;cp & CoMy o, &Tele +( MLl =Q mmM*{
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IR 25. How much energy is required to evaporate a water puddle that ISQ1 m” in ar h@a and 1 cm O

?
2500 deep? Assume no temperature change.
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P:J% 26. If the mixing ratio, w, is 0.01, and the total pressure is 850 hPa, what is the water vapor
partlal %ressure‘?
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27. If the dew point temperature is 20°C, and the air temperature is 30°C, what is the relative
humidity? What is the water vapor pressure?
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//28. What is the saturation water vapor mixing ratio, ws, if the temperature is 280 K and the
total pressure is 850 hPa?
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\/ 29. What is the water vapor mixing ratio, w, if the temperature is 280 K, the total pressure is
850 hPa, and the relative humidity is 65%?
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30. Consider an air parcel rising in a cloud. At cloud base, the temperature is 298 K at 900
hPa. The parcel ascends moist adiabatically up in the cloud, reaching a temperature of
283 K at 590 hPa. What is the water vapor mixing ratio at 590 hPa? What fraction of the
water is in the liquid at 590 hPa?
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